JlomycTuMi 3HAaYEHHSA ajIireopaivyHoro BUpasy.
MuorouwieH. PopMyJid CKOPOUECHOT0 MHOKEHHA
Cnpooyit euxonamu cam!

1. [Ipu siKMX 3HAYEHHAX 3MIHHOI Ma€ 3MICT BUPa3:

a) 5x2 + 0,5x

3+x

6)?

3—X
B) 57x
r)

4x
[x|+5

4x
X—7

i)

2. CopocTuTy BUpa3:

(Bl

(Bim.:
(Bim.:

(Bl

X € (—0; +0));

X € (—o0; +0));

X € (—o0; —8) U (—8; +0));

x € (—00; +0));

(Biam.: x € (—o0; —7) U (7; +0));

(Biam..x € (

—o0; =2 U (=2;2) U (35 +w0));

(Biam.: x € (—o0; —1) U (—1;0) U (0; +00));

(Bigm.: x € (—o0; 23]);

(Bimm.: x € (7;400)).

a) 4x3+8x* —9x+4 —7x3 +4x*> —3x— 8
6) 1,3x°> — 0,4x3 + 1,3 — 0,4x° + 2,4x3 — 1,5x2
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r) 0,7x*y°z - (—1,3x%y)
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(Bimm.: —3x3 + 12x? — 12x — 4);
(Bigm.: 0,7x° + 2x3 — 1,5x% + 1,3);

e A 2 3 L.
(Bimrm.: =X +114x+13),

(Bimm.: —0,91x%y°®z);
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3. [logaTtu y BUTIS 1 MHOTOYJIEHA CTAHAAPTHOTO BUTIISITY:

a) (5x —3y)(5x +3y) + (3x = 5y)(3x + 5y)

0) (x—2)2+(x—-1D(kx+1)

B) (3a — 2b)(3a + 2b) — (a + 3b)?
r) (x —2y)? = 3(x*y + xy?)
1)G+x+y)?—(7-x—-y)?

e)(m—3)(m+4)—(m+2)2+ @ —-m)(m+4)
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. 34x% — 34y?);

2x% — 4x + 3);

8x? — 6ab — 13b?);

x3 — 9x%y + 9xy? — 8);
24x + 24y — 24);

—m? — 3m).



